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1. Where is the y-intercept on this graph? 
2. If we talk for 0 minutes, how much do we owe? 
3. What is the slope of this line, or rate? How do you know? 
4. Can you write a rule for this function? 
5. What would the slope represent in terms of this real-world context? 
6. If we created an x–y chart, why do we have to include zero in the chart? 
7. In order to extend the values of x and y, what values could be used? 
KEY
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1. Where is the y-intercept on this graph?  0
2. If we talk for 0 minutes, how much do we owe?  We owe $0. 
3. What is the slope of this line, or rate? How do you know?  0.07; Two points on the line are 
(0, 0) and (10, 0.7). To get from one to the other, there is a rise of 0.7 and a run of 10. Since slope is calculated by the ratio of the rise to the run, this makes the slope 0.07.
4. Can you write a rule for this function? 
y = 0.07x
5. What would the slope represent in terms of this real-world context?  Each minute of talking costs $0.07.
6. If we created an x/y chart, why should we include 0 as an x-value?  This shows us the 
y-intercept.
7. In order to extend the values of x and y, what values could be used?  (11, 0.77), (12, 0.84), (13, 0.91), etc…
